Efficiency vs Dxy(PV)

< 1.2

efficiency vs dxy(PV,

=20 -15 - 10 15 20

TP dxy(PV) (cm)

—=— DQM_CKFFit_1000evt
—— DQM_CKFREFit_1000evt
—— DQM_MKFitREFit_1000evt

| Efficiend —— DQM_TESTOLHIT_1000evt
< 1.2
S [
o [
= [
5 1
> [
4 [
< [
o 0.8
Q L
L L
B 0.60g i IHH AR - 2

0.4

0.2
o i
T
214

0.

~0.8-0.6-0.4-02 0 0.2 04

TP dxy(PV) (cm)

Efficiency vs Dz(PV)

1.2

= :

o L .

¥ r :

S geeeeeeeete P . teeees

= L s N

> .

2 08-_................. S

o b N

o [ :

b= L .

o 0.6_— ............ P . Leeees
0.df- e Feeedeenend Beeee
0.2t Beeeeefeeeendne Beeees

[ i i i i |

o .

T

14

R R /" IO S SR
0.95] . . . . .
=30 -20 -10 O 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

s
s
5 P
2 1--.-- [ .+ ..........
z * *# AN
AR A (1 R | B
e} : : :
€ : : :
© 0.6l f e FARRED AR | RN
0.4+ 4-- |- ERRLEES T R AT
i i
e -

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


